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9x 5= 28 4= 2.3= . 27+26=
7x3= 12x7 = 1.9= 62.7 +0.8 =
8% = 49 + 7 = 23.7 = 1.9+1.9=
7x8= 132 +11= 199.9 = 81-10.5 =
12x10 = 3% = 25= 27.6 + 25 =
35= x5 [2x3= 5.2 = 15+ 2.6 =
11 x9 = 6x1l= 20.1= 2.7+1.5=
7°= 32=8x 304.8 = 5.1-1.8=
27 +3 = 48 + 8 = 400.07 = 13.5-2.3 =
Ox11= 3x3= 4.6 = 25.5+25.5=
5X6= 12°% = 13.4 = 55— 15.6 =
60 =12 = 28 = x4 |[88.5= 2.4+2.6=
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7x8= 48 +- 8 = | 23.7 = oeumber A;dltl+;6bt=t Ofdeumals
2 X 3= 7%= 199.9 = 1.9+0.5=
117 = 60+12= 2.5= 27.6 + 25 =
28 = X4 |1x4-= 5.2= 15+2.6=
6x10= 4x5= 20.1= 2.7+15=
3x3= 11x9= 304.8 = 5.1-1.8=
49 + 7 = 132 +11 = 400.07 = 17+1.4=
4°= 6x2= 4.6 = 13.5-2.3 =
3X6= 27 +3 = 134 = 25.5+25.5=
32=8x 3% = 88.5 = 55 —15.6 =
12 x7 = 72 = X9 |2.3= 0.9+0.9=
Ox11-= 11 x6= 1.9= 81-10.5=




